Hi Nagaraj,

Thanks for your help.

In your document your sample can display the real time label value in the link label. It’s right. But the error that I said is each node layout location is error. Some INodes of node or link across together. Please refer to the following image. 

Image 1:

Here the Realtime value of the node ID is 341, 340, 342, 339 gets displayed in the suitable link label. But the realtime value of the four nodes across with other link label, for instance the realtime value ‘88976’ of the ‘341’ node across with the realtime value ‘46347’ of the ‘340’ node, the realtime value ‘30851’ of the ‘342’ node across with the link label of the ‘339’ node. It’s not my anticipant.
In addition, the realtime value of the node ID is 362, 361, 360 across with the ‘342’ node and the ‘339’ node, and the three nodes link label across with the ‘342’ node and the ‘339’ node. It’s not my anticipant too.
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Image2:

Please refer to the following image. In this screen shot you can see real time values of the node ID is 318, 319, 317, 320 get displayed in their corresponding Link labels. But the realtime value of the four nodes across with other link label, for instance the realtime value ‘61102’ of the ‘318’ node across with the realtime value ‘61102’ of the ‘319’ node, the realtime value ‘61102’ of the ‘317’ node across with the link label of the ‘320’ node. It’s not my anticipant.

In addition, the four nodes that the node ID is 318, 319, 317, 320 location in differ Y coordinate. It’s not my anticipant too. I want the four nodes have same Y coordinate and same space between.
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Image3:

Please refer to the following image. Its error is same the Image 1.
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Image 4:

Please refer to the following image. Its error is same the Image 2.
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Sum up: I think these question is related with the nodes layout location, so I want to draw the flow graphic with my data like your sample 'OrgLayout Sample'(E:\Program Files\Syncfusion\Essential Studio\4.4.0.51\Windows\Diagram.Windows\Samples\In Depth\OrgLayout\). Its LayoutManager is automatic by ‘UpdateLayout’ method and ‘PositionMember’ method of the ‘OrgChartManager’ in your sample 'OrgLayout Sample'. I want to write the LayoutManager myself, but I am unsuccessful. So I think you can help me. I am highly appreaciting for your help.
Thanks,

Kawashima
